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1. UTBISS 3R BIH BT I T &

The general formula of aldehyde and
ketone is

d. CnH 2n+20

C. CnH 2n~|~1O
d. C H,.O,



2. Fafeed & & UfcSerss iR ®icH A faue a
Hhdl © ?

Who among the following can distinguish between
aldehydes and ketones?

a. lgleiT fae@H Fehling solution
b. BIRCH FIST Caustic soda
c. TS st Grignard reagent

d. E:lf( g 'Q’?lé ol none of these



3. Agfafaa A feas gy sReRT siftfear
gidl 82

Canizarro reaction occurs with which of the
following?

a. CH;CHO
b. HCHO

c¢. HCOOH
d. CH,COCH,



CH3

4. iRy Wdiee & 1 3 A U a1 8

.......... Is obtained by heating Calcium acetate

a. TS THICT ethyl acetate
b. HTeRIH BIHC calcium formate

W acetone

d. TIefcSeI3S Acetaldehyde
O

> C-Hg C G o
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5. BIHICSBISS DI 40% Sdid faaa a1
HEdldl 6?

40% aqueous solution of formaldehyde is
called?

TR |




6.$‘|§%assﬁNa0H$munﬁmmm
gIdl

When formaldehyde heated with NaOH, we get
a. BIH® 3T (formic acid)

b. BHIEH (acetone)

W Qﬁﬂﬁ?{ (methyl alcohol)
d. T BIHC (ethyl formate)



7. BIATCSEI3S CH,MgBr & 1Y 3iffehar
PP odl g Formaldehyde reacts with

b. CH;COOH
c. CH;CHO
d. HCHO



8. IUPAC UGl & THieH &1 911

Name of acetone in I[UPAC system.

a. AY9d (EGERED

b. TYAd GEOQERED
c. IO (Propanone)

d. TYHEHE (Ethanone)



9. A NHHD ol VfcSeISS 3R DI gl b
a1y ffNfepar Hd1 8,

The reagent which reacts with both, aldehyde
and ketone.

a. clay HHHS (Tollens reagent)
b. el A HHHD (Fehling solution)
c. % 3UfHHHD (Schieff base)

\,d./@ﬁ 3HHHD (Grignard reagent)



10. Fofef@d 3 19 smSed udiamr Sar g 2

Which of the following gives iodoform test?
a. G,HOH

b. CH,0OH

c. CH;CHO

d. GH,



11. FRgfafad 7 fead sifaiteor 9 e
T BIdl 82

a. CH;CHO

b. C,H.OH

c. CH;.CHOH.CH,
d. CH,OH



12. 79 8§ oF-4t sifvferar dufcsszs
ol adl ?

Which of the following reaction does not
give benzaldehyde?

a. UeSId Y- (Aldol condensation)

b. a’\'!ﬁ%’i Y- (benzoin condensation)
c. BRI fHHAT (cannizzaro reaction)
d. ufde1 3ifufdsar (Perkin reaction)



13. Tlcig 3ifHpH® A gld ©
....... Is in Tollen’s reagent.
a. [Ag (NH;),] * ion

b. Cu (OH),

c. Ag,0O

d. CuO



14, THicfcESezs & smifar-ffdd RicR
q13eC & Y TH A W §d1 8

When acetaldehyde heated with ammonia
mixed silver nitrate then ......forms.

a. f&ﬂﬂ? (acetone)
b. [RIeay THICT (silver acetate)

c. Reax gquy (silver mirror)
d. lﬁaf?sb’ﬁé (formaldehyde)




15. I FARISS GRI IS B SullcSess |
3HiftH 0 Hgardl g

the oxidation of toluene to benzaldehyde by
chromyl chloride is called

a. eI HHfHAT (Etard reaction)

b. W-ﬁﬂq 3ffyfdar (Riemer-Tiemann reaction)
C. Q’éﬁl 3{THIHAT (Wurtz reaction)

d. BRI HNFHAT (Cannizzaro reaction)



16. DIEIId AP T HCN BT TN ISTER0T &

The addition of HCN to carbonyl compounds is
an example of

a. AMfHBAB! TN (nucleophilic addition)

b. faggdAs! TN (electrophilic addition)
c. Jad AP I (free radical addition )

d. Sﬁ?ﬁﬁﬂﬁﬁ TN (electromeric addition)



17. 98 HBHHP ol THIeH Ud dulfcserss, al-l | fobar
T PR, T8 &

the reagent which does not react with both, acetone
and benzaldehyde is...

a. GIfSgH gIggIo-HehIgC (sodium hydrogensulphite)
b. BiAd BIZSINS (phenyl hydrazine)

c. lhgfei faegq (Fehling's solution)

d. s st (Grignard reagent)




18. BIcfeEggs @t SfHfhar TR & I1Y 81 W)
§di g

When acetaldehyde reacts with chlorine ......forms.

a. Ui HRIRTSS (acetyl chloride)
b. IR (chloride)

C. amﬁ!?@ﬁﬁai H¥&T (dichloroacetic acid)
d.399 9 aﬂs‘ ol (none of these)



19. OfcEBIS S 3R PieH A fave Fufafad A 3 feas
eI foar 91 9@ g 2

Who among the following can distinguish between
aldehydes and ketones?

a. 9% H,SO,

b. BT SIS
c. Rp sfiHd®

d. gey 3



20. PR Tiee 3R HicRaH Bide & [y &I

T HRA WS ©
(H4 CHO When the mixture of calcium acetate and calcium
formate is heated then......... forms.
a. HYAIA (methanol)
b. T (ethanol)

C Q"\‘ﬂﬁ‘fﬂ? 3T (acetic acid)
d. Td9d EQUERED




21. UfcEgES &1 fopamsfial gore giar &

The functional group of aldehydes is
a. -CHO

b. -CO-
c. -O-
d. -COOR



22. B BT febarefie goie gl &

The functional group of ketones is
a. -CHO

b. -CO-
c. -O-
d. -COOR



23. A9 A q &1 91 Afd NaHSO, & I1y fobar
ol BT ?

which of the following compounds does not
react with NaHSO;?

a. HCHO

b. C;H.COCH,
c. CH;COCH,
d. CH,CHO



24 g A A o U3 ©

Which of the following is aldehyde?
a. CH,0H

b. C,H.OH
c. CH,0
d. 399 9 gt



25. UfId Ueablgial & SHIqHIhRUl J €17

Oxidation of ethyl alcohol gives
a. BIHICSEISS

b. UHIfeH 3

c. BIiH® 3

d. HYTA



26. GifsgH THiee &l OIS dIsH & 1Y TH
B IR §9d1 -

What happens when sodium acetate heated
with soda lime?

a. CH,

b. C,H¢

c. CH,COOH
d. GH,



27. BiiHd 3 Dl HIFT-Af%d Riear A18ce
faera & 91y T B[ W §94d7 =-

On heating formic acid with ammonia-mixed silver
nitrate solution, it is formed-

a. A1 3{d&Y

b. Th¢ 3{d&T
C. ﬁlﬁ??‘f‘ﬂ

d. T I BI3 gl



28. HIfAgH Bdice &I [1GT TH B WX
T I 8-



29. BiHP 3 U4 Bifed 3 A faug &1 & forg
P sifiype &1 hagR fHar o1 hdi g ?

Which reagent can be used to differentiate between
formic acid and acetic acid?

a. PCl;

b. Na
c. Clayg HHHHD
d. Ffars sifved®



30. 9 A @ o1 efel faaas & sradd
ol Bl ?

Which of the following does not reduce
Fehling’s solution?

a. BIH® 3
b. THIfeH 3
c. BIACSEIZS
d. Wiefeserss



31. C,H.CN & Sd-3(T9e I U gidl &-
Hydrolysis of C,H.CN gives

a. GH,

b. CH,CH,COOH
c. CH;COOH

d. HCOOH



32. Pleifadfcrd 3 $I fhamfia Jae gl g

The functional group of carboxylic acid is
a. -CHO

b. -COOH
c. O-
d. -COOR



